- Classify transducers with suitable example.
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N.B: 1. Question.No.1is compulsory. By gt PSS
2. Attempt any three questions from remaining five questmns
3. Assume suitable data wherever necessary. ' | ;
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Attempt any four. TS SEa s _
What is base metal and rare metal thermocouples? State thewadvantages and disadVantages '
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The dead zone in a certain pyrometer is 0.125 %of span The caﬁbratlah\is 409“(:10 1000‘15
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What temperature change might occur before it is de;fe_cted?-_: Fedig Y

Explain absolute humidity and relative humadtty -x :

Explain different types of errors in measurer‘nents wnth T{leir remedles % o ..-_ FeN =
Explain flapper nozzle system. and comment on rts apphcatlon y ﬁéh 2N R, SERS 10

10

........

A capacitive transducer Uses two' quartz dtaphragrns farea 25
pressure of 900 kam when applled to the top dlap y, Sy ¥
370 pF when no. pre‘ssure is applied to the d:aphra ‘ |
pressure of 900 kN[m | P yen Y o
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State dlfferen‘t types of pyrometers Exp ai v&h f“‘“l sketch any one of them. 10
} State and explain taws of mt‘ermedlat mp%ufe and ‘intermediate metals of thermocouple. Write the10
significance of these laws. > /;3* ﬁgﬁﬁ
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Lead wire compensation in RTD
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